Probability - Answers

Key Stage 2: 2004 Paper A
1.
[image: ]
Key Stage 2: 2005 Paper A
1.
[image: ]












Key Stage 2: 2005 Paper B
1.
[image: ]














Key Stage 2: 2007 Paper A
1.
[image: ]
Key Stage 2: 2008 Paper B
1.
[image: ]
Key Stage 2: 2009 Paper A
1.
[image: ]






Key Stage 2: 2010 Paper B
1.
[image: ]
Key Stage 2: 2011 Paper B L6
1.
[image: ]
Key Stage 2: 2011 Paper A
1.
[image: ]










Key Stage 2: 2011 Paper B
1.
[image: ]


















Key Stage 2: 2012 Paper A L6
1.
[image: ]










Key Stage 2: 2012 Paper B L6
1.
[image: ]










Key Stage 2: 2013 Paper A L6
1.
[image: ]
Key Stage 2: 2013 Paper B L6
1.
[image: ]
Key Stage 2: 2013 Paper A
1.
[image: ]
Key Stage 2: 2013 Paper A
2.
[image: ]












Key Stage 2: 2014 Paper A L6
1.
[image: ]
Key Stage 2: 2014 Paper A
1.
[image: ]





Key Stage 2: 2015 Paper A L6
1.
[image: ]
Key Stage 2: 2015 Paper B L6
1.
[image: ]







Key Stage 2: 2015 Paper B L6
2.
[image: ]
Key Stage 2: 2015 Paper B
1.
[image: ]





Key Stage 2: 2018 Paper 3 Reasoning
1.
[bookmark: _GoBack][image: ]

image7.png
An explanation which correctly compares the
contents of the two bags, eg:

B 'Inbag A half of the marbles are blue, but in
bag B more are red than blue’

WIn Aits fify-ffy, but n B red is more liely”

W Less than half of the marbles in B are blue, but
in Ahalf are blue'

m

No markis awarded for circling ‘A’ alone.

Do not accept vague or incomplete explanations,
P

® “Ais more likely even though there are more.
blues in B’

™ “Ahas an even chance’.

18"l circled but a correct, unambiguous
‘explanation is given, then award the mark.
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3 2m  Completes all three rows corectl,ie

4 0 0
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¥ 0O d
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im  Completes two rows correctly
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18

1m

Accept 21 AND 22 AND 23 AND 24
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2

An explanation which recognises that there are
two counters labelled 35 and only one counter
labelled 45, eg:

W ‘For 35 there’s a white and a green, but for 45
there’s only a green”

“There are two 355 and one 45
“There are twice as many 355 as 45"
“The only 45 s green”

“There s only one 45"

“White counters only go up to 40,
5035 would be more likely to win'

OO

No markis awarded for circling "Yes' alone.

Do not accept vague or incomplete explanations,
o

= There are more counters below 40

45 s green’

= White goes up t0 40"

 There are more greens'.

1No s circled but a correct, unambiguous
‘explanation is given, then award the mark.
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Fulfis all four of the conditions:
* Nots

« Four2s

* More 3s than 45

« The same number of s and 55

eg:

©22223345

or
22223333
or
222237809

or

©222233309

Gives a combination of numbers that fulfls three.
of the four conditions above

m

% Do not allow, for 2m or 1m, anything
other than eight numbers given, eg
one sectionleft blank
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£

Gives a correct probabiliy, eg:

o o i

5

m

m

A probability that is incorrectly expressed
Condone

eg

«3in6

« 3overs

« 3outofé

 3fomé

Aprobability expressed as a percentage
without a percentage sign

Afraction with other than integers in the
numerator and/or denominator.

Aprobability expressed as a ratio
eg

.36

.33

. 102

Do not accept ‘equal’ or ‘even chance’
‘without an acceptable answer

eq, accept

« equal,so half

« evens, because tis 3in 6

eq,do not accept

« equal
« even chance.
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Gives a correct probabilty, eg:

. a5%
045

Segs

Shows or implies a complete correct method,
with not more than one computational error, eg:

© $=100 + 4 = 40% (erron)

1-025-0.30 = 055 ferror)

« P(Salt & Vin) = 1 - P(Prawn) - P(Cheese)
100% - 25% - 30%

m

See guidance (page 8)

Probabiity expressed as a percentage
without a percentage sign

Condone for 1, ie:
oas
‘and percentages.

Within a complete correct method,
‘conversions must be correct and/or show.
the method of conversion

Incomplete methods which do not convert
the probabilties to a common format, eg:

[
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1"

$or equivalent

Shows or implies a correctfrst step of algebraic
manipulation that eithr recuces the number of
terms or collects variables on one side of the
equation and numbers on the other or correctly
removes the brackets, eg:

« 8y+96=100
.« ye12=100:8
P

oR

Shows or implies a complete correct method, eg:

100 +8=12 error)
12-12=0

« 25x4=100
125x8=100
125-12

Algebra
Ses guidance (page 9)
Equivalent fractions or decimals

Afirst step of algebraic manipulation
which has a conceptual error, g
«y+12=100

«y+96=100

8y +12=100

Correct embedded solutions

R
e e
o g
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18 Anamangement where each section contains. 1m  Numbers may be repeated any number of times,
in any order.

either 1 OR3, eg
O R

v T T A
A A s
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An explanation which recognises that Chen is

more likely than Megan to choose a4, eg:

“Chen and Megan both have one 4,
but Megan has more other numbers'

‘Chen has 1 out of 4, but Megan only
1outof5

‘Megan has four counters that aren't 4
but Chen only has three'

‘Megan has a 20% chance and Chen
has 2 25% chance'.

1m

(©)

No mark is awarded for circling ‘Yes' alone.

Do not accept vague or incomplete.
‘explanations, eg:

= ‘Megan has more counters’
= ‘Megan can choose a 5 but Chen can'’

1f*No s circled but a correct, unambiguous
‘explanation is given, then award the mark.
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15 1m
40 2m
or

m

45 seen (total number of black counters)

oR
60 seen (total number of counters)

oR

Shows or implies a complete, correct method, eg:

* 075 0f 20 = 15 (white)
20-15=5 (black)

For 2m, correct follow-through answer
from their answer to part (3) as
(4 x ‘their a' - 20)

For 1m, correct follow-through from their
answer to part (a) as.

(8 x ‘their a) seen

(total number of biack counters)

or

(4 x ‘their a) seen
(total number of counters)
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19 Anexplanation which recognises that 10% of 55
s not a whole number, eg:

= 0% o 55105, anyou com have 5
e

0 B ST )

= o e ramarcut o 85 il g you 105"

m ‘Ifit was 5 people, 5 out of 55 isn't 10%.
6 out of 55 isn't 10% either’

= ‘Because you can't have half a person.’

» sy

1m Do notaccept vague or incomplete explanations,
g

@ s
e e s
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7a

Gives a correct explanation that recognises
3 ofthe 10 number cards are factors of 14, &g

 1,2.and 7 are factors of 14, so tis three out
often

Gives a number that has four of ts factors.
between 1.and 10 inclusive, eg:

.6
.50

m

m

factors listed without a probabilty, eg:
«1.2a0d7
1,2and 7 are the only factors of 14

fthe cards 1, 2 and 7 and no others are
icated on the iagram, award 1 mark for

an incomplete explanation within the

‘explain bubble

Incomplete explanation, eg:

« Three ofthe ten cards are a facor of 14
S0 the probabiity is three tenths

« Thvee ofthe cards are factors

Answers below 100 are as follows:
6,8,10, 16, 28, 32, 45, 50, 64, 66, 78 and 88
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Gives a correct probability, eg: im ! Probability
. oty See guidance (page 8)
* 0.0120r0.011(...)
* 1.2%o0r 1.1(.)%

ives a conectprobabity eg: tm 1 Probabilty
- % Seo guidance (page 8)
« 005

. 5%
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Gives a correct explanation, which demonstrates 1m
that the likelinood for © is greater than the
likelihood for 3, eg:

 There are only two ways to score 3

(2+1,1+2), but there are more ways to
Score,694+5,5+4,3+6

« Jackis incomreot because there are two ways
of making 3 with those e (1 +2and2 + 1)
but thero are 4 ways of aking § (346, 4.+ 5,
5+4and6+3)

+ The probabiy f scoring 3 s 2 but the
probabiity ofscorng 978 &

RN E

[©)

als]s
AR
D
75 |®
5 (@]
@[
10

1 | 12

P

®
4
s
o
7

ofals|eln
a|~lo|ols

@ «|~|a|a|"|«

/ Minimally acceptable explanation, eg:
csng ok
« 3hah waya's has 4 ways
Ciiz24lad405514346

1 Reversals not considered
Condone, provided a consistent approach is
used for both totals, eg:

« There is one way to make 3 and two ways
1o make 9
©142,445643

! Incomplete explanation in explain bubble
1 the response n the explan bubble is
incomplete and does not include any
incormect mathematics then working outside.
the bubble is considered

X Incomplete or incorrect explanation, cg:
« 9is more ikely than 3
« There are more ways to make 8 than 3
« The probabilty of 3 g
« There is only one way to score 3

X Incorrect mathematics, eg:

« The probabilty of 3 s 2 and the
probablty of9is 4

“3ist+2
9is445,643,247,841

. ity of 9is 2 and s 1
‘The probabilty of 9s 2 and 31s 1,
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An explanation which recognises that they are
equallylikely to choose a blue counter, eg:

m “Halfthe counters in each bag are blue'
® 'S out of 101 the same as 10 out of 20'

= ‘Chen has twice as many biue counters but he
aiso has twice as many counters altogether so
the chance is the same’.

m

()

No mark is awarded for circing ‘No’ alone.
Do not accept vague or incomplete explanations,
e

= ‘There i an equal chance’

= Ghen has 10 biue and Megan has 5"

‘Yes' s circled but a correct, unambiguous
‘explanation is given, then award the mark.
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Two combinations, as shown:
blue and red OR red and blue
AND

white and red OR red and white.

1m
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14

An explanation which recognises that
the numbers of odd and even cards
are not equal, eg

‘Because there are more odds than

evens’;

‘Because there are fewer evens

than odds’;

“Because Sapna scores on more

than half of the cards’;

‘Because there are only three even

numbers’;

‘Because Josh has 3 cards and

Sapna has 4 cards’;

‘Because Sapna has more chances'.

m

No mark is awarded for circling ‘No*
alone.

Do not accept vague or arbitrary
explanations, eg

“Because fair means half the time’;
“Because there are 7 cards’

“Because Sapna wil always win'.

f *Yes' s circled but a correct,
unambiguous explanation is given,
then award the mark.
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10

Accept for TWO marks any.
arrangement using one of the
following sets of eight numbers:
11,122,233

OR

1.1,1,1,2.2,2,2

AVb
S

If the answer is incorrect, award ONE
mark for an arrangement such that:

u the number of 15 and 25 is equal

OR

u the number of 35 less than
the number of 25 AND

the number of 3s s less than
the number of 1s.

Numbers may be witten in any order

Do not accept answers that leave
sections blank o include numbers
other than 1, 2 or 3.
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Award TWO marks for three rows Upto  Accept alternative unambiguous
ticked correctly as shown: 2m indications such as ¥ or Y.

0 @ o
4 O 0O
0 o
0o 4 o

If the answer is incorrect, award ONE
mark for any two rows ticked correctly
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Award TWO marks for boxes ticked Upto
and crossed as shown: 2m

V|
x

V|

[

If the answer is incorrect, award ONE
mark for any three boxes correctly
completed.

Accept alternative unambiguous
indications such as ¥ or N.

For TWO marks accept:
V|

v
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